WHEERG —&E PP R A
o TAR 6 H filik (HLAf) : Kegd7= v
B0 B GERSi G
filik& filiA&

e FEPER S (Kg) | @E R[S Al | B E (Ke) | AfE I LA
RKIRT- 0 S 85 1,944 1,132 270 | TeJi 241 3,780 1, 888 540
T P 1,274 1,593 1, 199 694
EERZ) = 283 2,322 1,398 376
KAROHH ii= 14 1,836 1,836 1, 836
IO SO i [ 87 2,970 2,636 1,296
DT R 2 1,620 1,620 1,620
Hz N B 5| 12,962 8,418 1,400 | =& 12 6, 480 5, 580 5, 400
HHO JeiE 134 | 11,880 3, 288 2,916
-z Koy 258 4,104 2,128 1, 080
351z B[Rz 11 | 64,800 | 58,400 | 25,200
W EZ
ITESTH
HEY JeiE 25 1, 404 1, 404 1, 404
LL#A S 35 | 1,512 | 1,211 972
TRE 5 [ 17 | 10, 800 1,816 945
KH A 10 1,728 1,728 1,728
MmE
Hp g5 B 28 2,592 2,233 2,052
I E A 10 4,914 4,914 4,914
MhixE TEE 4 1, 620 1,183 647 |18 18 1,404 1,329 864
BIEPMED VLS 432 2,646 2,124 972
=0F B [l 106 1, 242 1,206 1,188 [JbEE 155 2, 808 1,903 1,674
Wb L T 216 360 266 126
[

I T iR 12 540 540 540
Wb T

Y5 I 701 1, 145 486 264
SAE JeE 881 2,700 1,002 756
A EIF 47 8,910 4, 568 1,188 |1iH 96 5, 400 2,997 2,322
T 5D = 143 1,058 767 540
N FnakiL 276 1,944 1,089 432
FTHESD EJII 158 3,078 2, 096 1, 944
<AHAESA =877 108 3,272 3,272 3,272

WALEESAH DA 157 2,160 1,967 1,728

EbiEESA = 506 2,376 1, 585 1,166
S 5 6 1,944 1,944 1,944 | ok 117 3,996 2,695 864
Ihb = 62 1,728 1,155 756 | = 77 1,836 642 324
RS HIR 75 389 389 389

FRNBOB )1 2 756 756 756

WwWe oy [T 12 1, 080 1, 080 1, 080
EH5S< Koy 4 3, 024 3,024 3,024 | K4y 1 3, 564 3, 564 3, 564
NAZTEN 5 525 432 339 170
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afn 74 10H  6H filik (HLAf) : Kegd7= v
B0 B GERSi G
il fili k%

fh4h FHPEH B & Kg)| Ml Wl ZE | EEEH B E Ke)| SE I LA
BRH A T FE 20 1,188 1,188 1,188
M7=
ENE
MRS T
WA 2 Y M7 50 3,528 2,028 1,662
At x 2 O A )7 32 2,220 1,648 600
WM
RN
MET 0 Y
ARSI A FE A )7 10 2,808 2,808 2, 808
R S
AR —/LAH
IR JerE 10 1,296 1,296 1,296
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fh4h FHPEH B & Kg)| Ml Wl ZE | EEEH B E Ke)| SE I LA
HOHA T JeE 100 4,122 3,958 3, 870
M E
Wb LET EII 6 2,646 2,646 2,646
=51
Wb LT JEIR B 24 2,520 2,520 2,520
5 B OHIF = 10 891 891 891
LLsb B[RES 10 1,181 1,181 1,181
T DD
Fond
WEAE
wxix b 540 1, 145 892 743
AN A6 242 1,728 921 648
R Ypi F 50 3, 888 2,030 1, 404
BET
B D1 e 45 2,916 2,916 2,916
iR
HRIZL A
WK+ T 75 | 2,808 1,941 1,728
ET ER 336 1,030 982 922
[ES-YAYE
o1&k
50 A% Y55 11 3,531 3,471 3,420
b/ N
PN
Bz
558%Y
BEbH72 =
Bex 9
B L i =] 34 648 641 637
EAE

BE T




